Message With Interference

ASCII Translations For Binary
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Binary Values (First Letter, 1-8) Binary Values (Fifth Letter, 33-40)
Total Value 128 |64 |32 |16 |8 |4 1 Total Value 128 |64 (32|16 (8 |4
Binary Values (Second Letter, 9-16) Binary Values (Sixth Letter, 41-48)
Total Value 128 |64 |32 |16 (8|4 1 Total Value 128 |64 (321618 |4
Binary Values (Third Letter, 17-24) Binary Values (Seventh Letter, 49-56)
Total Value 128 |64 (32 |16 (8|4 1 Total Value 128 | 64|32 |16 |8 |4
Binary Values (Fourth Letter, 25-32)
Total Value 128 |64 |32 |16 |8 |4 1
And The Word Is?
Letter 1 | Letter 2 | Letter 3 | Letter4 | Letter5 | Letter6 | Letter?7
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